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9 -5 0 2 7)) AT D190 DY TIY MNMNIN Digit NPONN NNM

90 DY TN NP/ (M9 N11DD) 2555 1901 NN BigNumber NPoNNN

class BigNumber {
public:
BigNumber (char *str); // 23

int digitSum{();

private:
Digit *array;
int len; / /TwWnn TR

}i
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int whatl (int *arr, int len, int num) {
int i;
for (i=0;i<len; ++1i)
if (arr[i] == num)
return 1;
return 0;
}
int what2(int *arr, int len) {
int 1i;
for (i=0;i<len-1; ++1i)
if (whatl (arr+i+l,len-i-1,arr[i]))
return 1;
return 0;
}
int what3 () {
unsigned char c=0;
int arr1[1000], arr2([1000], 1i;
for (1i=0;1<1000;i++) {
arrl[1i] = c++;

arr2[i] = i++;

cout<<what2(arrl, 1000)<<" "<<whatZ(arr2, 1000)<<endl;
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(n1Ti72 60) VHDL — "2 p'in

(nimim 20 - axw 'Y) 10-5 nitvwn "an Uity Yy Ny

library ieee;
use ieee.std_logic_1164.all;
entity tffl is
port (clk, rst, t: in std_logic;
g: out std_logic);

end;

architecture rtl of tffl is
signal sig: std_logic:='0";
begin

process (clk, rst)

begin

if rst='l' then sig<= '0';

elsif clk'event and clk
if t='1'" then ..__
sig<= NOT sig;
end if;
end 1if;
end process;
qg<= sig;

end;

library ieee;

use ieee.std_logic_1164.all;

use ieee.std_logic_arith.all;
use ieee.std_logic_unsigned.all;
entity test5A is

GENERIC (Size: INTEGER:= 4);

5 nInv
:INAN NONN I
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port (clk, rst, t: in std_logic;
g: out std_logic_vector (Size-1 downto 0));
end;
architecture for_gen of test5A is
COMPONENT tff1l
port{(clk, rst, t: in std_logic; g: out std_logic);

end component;

SIGNAL gSig: std_logic_vector (Size-1 DOWNTO O0): (others=>'0");

SIGNAL tSig: std_logic_vector (Size-1 DOWNTO 0): (others=>'0");

begin
tSig(0) <=t;
out_loop: FOR i in size-1 downto 0 GENERATE
boxs: tffl port map(t=>tSig(i), clk=>clk, rst=>rst, g=>qSig(i));
end GENERATE out_loop;
tsig(l)<= gsig(0) XOR gsig(3);
tsig(2)<= gsig(3) XOR gsig(l);

tsig(3) <= gsig(l) XNOR gsig(2);

end;

NN MIONN YT-DY MISNN NIDIND NN INNHNN OOWIN NP PATHILLVID  .X (P 12)
(7DONPMHM TOYRIVPNIT DI HY DI MO NNIONN)

N2NNN NIOWNNY NIN .DMPNIYY DMDNI NIDNN DY DIRIINN NITO MR DWW .2 (/P 8)
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DYANNT 16 NX DY ,TNTNN MPN ON .IINNN NN DIVI, 7NN 11 NITO DX
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library ieee;
use lieee.STD_LOGIC_l1ll64.all;
use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port (clk: in BIT; rst: in BIT;
input: in std_logic_vector(size-1 downto 0);
div_by: out std_logic);
end div;
architecture div of div is

signal count: std_logic_vector(size-1 downto 0);

begin
process (rst, clk)
begin
if rst = '1' then
count<= input;
div_by<='0";
elsif clk'event and clk = 'l' then
if count =1 thgn
count<=inpﬁz;
div_by<='0";
else
if count < SHL(input, "01")+1 then
div_by<='0";
else
div_by<='1";
end if;
count<=count-1;
end 1if;
end if;
end process;
end;
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library ieee;
use ileee.std_logic_1164.all;
entity sm is
port (resetN, clk: in std_logic;
din : in std_logic_vector (1l downto 0);
dout : out std_logic_vector (1l downto 0}));

end sm;

architecture arc_sm of sm is
type state is (pre, boom, ‘post);
signal present_state, next_state: state;
signal dsig: std_logic_vector (1 downto 0):= "00";
begin
process (resetN, clk)
begin
if resetN = '1l' then
present_state <= pre;
elsif clk'event and clk = '1' then

present_state <= nextfstate;
N

end if;

end process;

process (present_state, din)

begin

case present_state 1is
when pre =>
dsig <= "01";
if din = "11" then
next_state <= boom;
else

next_state <= pre;

-10 -
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end if;

when boom =>
dsig <= "10";
if din = "00" then
next_state <= pre;
else
next_state <= post;

end if;

when post =>
dsig <= "11";
if din = "00" then
next_state <= pre;
elsif din = "11" then
next_state <= boom;
else
next_state <= post;

end if;

when others =>
next_state <= pre;
end case;
end process;
dout <= dsig;

end arc_sm;

STNAIVAN NN PN TMoore 1101 IN Mealy 00 RO NNDNN DR

,2ANNY 237N (DYSNN) DMAYNN I NN AN .NNINN DY DIANNN NNINYT NN LVID
NN NN NN MDD DNYY MYNN NN

(DYSNN) DMV 9 NN PITID TN NV .ININN NN PITY NV DY TP 2IND
DY MININI MNNNT MNSIND NN PITAY TN PR .NNDN ANND ANNND DOIVIND
.MONN
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LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
ENTITY cnt IS
PORT (clk, rst: IN STD_LOGIC;
vecl, vec2: IN STD _LOGIC_vector (3 downto 0);
veclOR2: OUT STD_LOGIC_vector (1 downto 0));

END;

YSIANY VPN MNVPI IV S TN NION NOIRY THOIPND 1D 51999 DPSPNI IND N ('Pr 10)
YO MIONN YOPIAY vec2-Y vecl: DMNOVPNN NV P INNVYN
: N2D J9INA 3NN NNV TI ,DNMININ 90N ISP
veclOR2 < ="01" N (1-1 YY1) 2) vec2 > vecl DN
veclOR2 < ="10" X (1-n VP 2) vec2 < vecl DN
veclOR2 < ="11" WX (1-9 MMV 2) vec2 = vecl DNY
vec1OR2 < ="00" NN DThnn NI
519393 200 Y1A0NY ¥ DIIN ,B9NIN D53 wnnwhnb vwoN
DI PSPNON NN IO (Package) "NYPAN7 MO .2 (P 2)
2 NVNNYM PPN IRNMPH NNVPLIINIDIND . (P 8)
T £%5 )
SNV, NNINN NN DONY NTPPONY INNIN MMIDPON DIPND 15t NOMND NP .1
.veclOR2 < ="00"
SOXNYNY MYTH D93 2 NOMOY MYNN PYY NN Y51 .2
NN NI2Y2 A0NY ¥ .WITID NYNIND N7WINWY ,DMIRNN TN YPON IOV prTa

VNNV DNAY DINWNN NX VIDTY NONN NIW 1IN
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LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09A_What IS
PORT (clk, rst, inp: IN STD_LOGIC;
otp: OUT std_logic);
END;
ARCHITECTURE arc OF test09A What IS
SIGNAL a, b, c: std_logic;
BEGIN
otp<= (c AND b) WHEN (inp = a) ELSE (a XOR b);
process(clk, rst)
begin
if rst= '0' then
a<= '0'; b= '"1'; c<='0";
elsif rising_edge(clk) then
a<=inp XOR c; b<= NOT a; c<= b AND a;
end if; BN
end process;

end;

2T IPIDAN AVNY NIMNN IR VYD X (/P 10)
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LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_ LOGIC_UNSIGNED.ALL;
ENTITY test09B_What IS
PORT (clk, inpl, inp2: IN STD_LOGIC;
otp: OUT std_logic);
END;
ARCHITECTURE arc OF test09B_What IS
SIGNAL a, b, c: std_logic;
BEGIN
process (clk)
begin
if rising_edge(clk) then

if a= b then

c<= NOT inp2; otp<= b;

else c<= '1";
end if;

end if;

end process; ™~

b<= a WHEN inp2 /= inpl ELSE c;
a<= b WHEN (c = inpl) ELSE inp2;

end;

: TININ MIONN AN

AT IONND ANNY NIMNN NI VLD . (P 10)
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d(1) <= g(2) XNOR q(3);
d(2) <= g(3) WHEN d(1) = d(3)

d(3) <= g(2) WHEN d(2) / = d(1) ELSE
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